CLASS : 12th (Sr. Secondary) Code No. 5613
Series : SS-April/2021

Roll No. SET : B

T

GEOGRAPHY
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd ol A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT TG F T [ G F 3 Je7-9 § FRT §T 8 T4 797 30 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o gheEreff 7T T To FIT-UH T T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 98 GARGT FC A [ G797 §U T 7el 8, YT F YU 39
T 7 g o qar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ g7 Aart &

All questions are compulsory.
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(i) Fo7 F@T 1 & 23 % FGEBHAT F97 81 RT TG AT T § @ g &l Fav g

797 G 24 @ 30 7% TGS F97 & JE9% F IAT 9% T @ A= T TF
g g% 997 1 3% & &1 el FT YA Fav-Yikrm [

Question Nos. 1 to 23 are multiple choice type questions. Choose the one
correct answer from given four options. Question Nos. 24 to 30 are objective
type questions. The answer of each question may be given in one or two
words or sentences. Each question carries 1 mark. Write correct answer in

your answer-book.

1. fhEd Ta-Fafaar & gfqaes e ? 1
(A) BifteT I (B) ReX
(C) = (D) &fdres
Who proposed the concept of Neo-determinism ?
(A) Griffith Taylor (B) Ritter
(C) Blache (D) Huntington
2. IUGET ZT H 6 IUMH BT HWE T F G A T P 1
(A) &g gTed (B) WM fagereer
(C) & faRr=Tar (D) RIS
Which approach of Human Geography was followed in colonial period ?
(A) Spatial organisation (B) Regional analysis
(C) Areal differentiation (D) Behavioural
3. I=A 4 guhih B W A8 ? 1
(A) 0.6 § I (B) 0.7 § IW
(C) 0.9 § W (D) 0.8 § W
What is the score of high development index ?
(A) Above 0.6 (B) Above 0.7
(C) Above 0.9 (D) Above 0.8

5613/(Set : B)/ Il



(3) 5613/(Set : B)

4. 59 WEIE § SMEE gie X daiE 8 7 1
() R (B) SThIH
(C) I (D) effegferan
Which continent has the highest growth rate of population ?
(A) Asia (B) Africa
(C) Europe (D) Australia
5. frfafad & & $F-91 0 foxa sween e &5 787 8 7 1
(A) ST (B) qHEREE e
(C) sRerT-gdi Rmn (D) gdE Sas
Which one of the following is not an area of sparse population ?
(A) The Atacama (B) Equatorial Regions
(C) South-East Asia (D) Polar Regions
6. f=ifeiad d & Hi9-a1 g & waraq au 8 ? 1
(A) TR ¥ & (B) TN ¥ geTcHsh UReacH
(C) R H Rear (D) TN & @rERe gRads
Which one of the following best describes development ?
(A) An increase in size (B) A positive change in quality
(C) A constant in size (D) A simple change in the quality
7. W= A @ F9-9 &9 B 7@ o ? 1
() =T P (B) f3rr iy
(C) T B (D) afer STt F
Which one of the following does not follow monoculture ?
(A) Diary farming (B) Mixed farming
(C) Plantation agriculture (D) Commercial grain farming
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8. Ta® Fhameey fFd PRE W MR & ? 1
(A)  FE (B) AU
(©) wFd (D) S
Tertiary activities depend on :
(A) Skill (B) Machinery
(C) Factory (D) Production

9. 3Rl sMRe # waifie SEE ai TR HH-91 & 7 1
A) -9 (B) =TH €
() ¥Herd (D) Al TRl
Which is the most populated town of South America ?
(A) Rio-de-Janerio (B) Buenos Aires
(C) Santos (D) Sao Paulo

10. 9RG ¥ fHl B e, &l fohael SMEe Bl =Ry ? 1

(A) 3000 (B) 4000
(C) 5000 (D) 6000

What is the population of an urban town in India ?

(A) 3000 (B) 4000
(C) 5000 (D) 6000

11. fompradie 3T A SaEn & qEs o & famm Td srasadsdel & i § -9 FE
% TN Hedd § 7 1
A) fo (B) HMAY
(C) s (D) HmHIRS

Sufficiency of which type of resources can help to create adequate social
infrastructure catering to the needs of the large population in the developing
countries ?

(A) Financial (B) Human
(C) Natural (D) Social
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12. TG M gadi® (2005) % ded 7 fawg & 3 § 9Ra & Feflfad & § - e

off ? ]
(A) 126 (B) 128
(C) 127 (D) 129

Which one of the following is India's rank in terms of Human Development
among the countries of the world in 2005 ?

(A) 126 (B) 128
(C) 127 (D) 129
13. 9Xd & Fr=ifoiad &= anfaa sest & & fhe o & qeRa & Ieaaq ¢ ¢ 1
(A) eI (B) T &R g9
(C) TSNS (D) SrvEHN R R g
Which one of the following Union Territories of India has the highest literacy
rate ?
(A) Lakshadweep (B) Daman and Diu
(C) Chandigarh (D) Andaman and Nicobar Islands
14. R H Ugal QOf SRIOAT % g3 7 1
(A) 1871 (B) 1891
(C) 1901 (D) 1881

When was the first complete census held in India ?

(A) 1871 (B) 1891
(C) 1901 (D) 1881
15. 9RA & %9 U9 § ge9 A Seed 99 © 7 1
(a) Brga (B) HaRHE
(C) TfrrH (D) STEIEA oS
Which state has lowest Density of Population in India ?
(A) Tripura (B) Meghalaya
(C) Sikkim (D) Arunachal Pradesh
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16. f=ifed & @ H9-81 TR 98 ¢ | Fared 787 & ° 1
(A) ST (B) Yo
(C) U (D)  eicTehre
Which one of the following towns is not situated along the bank of a river ?
(A) Agra (B) Patna
(C) Bhopal (D) Kolkata
17. B9 X Ae-oiige! T g ot § feg & ? 1
(A) W (B) e
(©) g (D) fry
In which valley were Harappa and Mohanjodaro towns located ?
(A) Ganga (B) Narmada
(C) Brahmaputra (D) Indus
18. 9T # i e TR 8 ? 1
(A) S (B) gRIoTEl
(©) I (D) FEE
Which is the most ancient town in India ?
(A) Agra (B) Varanasi
(C) Chennai (D) Hyderabad
19. Y& H TR fbae O A0 ST § T § 7 1
(A) 61% B) 71%
(C) 81% (D) 91%

How much-part of earth is covered with water ?
(A) 61% B) 71%
(C) 81% D) 91%
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fretfeied & | -6 @S G0 ERC & TH q S S 6 7 1

(A) e (B) H

(C) freEe (D) ¥®

Out of the following which mineral is called 'Brown diamond' ?

(A) Iron ore (B) Manganese

(C) Lignite (D) Mica

Frefafad § 9 6 WM 0T Bl [RAY] Sl WA wid o @ o ? 1

(A)  DeTIFRH (B) °M 49 X

(C) T (D) TRIYY

On which station out of the following, the first atomic station was set-up ?

(A) Kalpakkam (B) Rana Pratap Sagar

(C) Narora (D) Tarapur

sifefor &1 fF SR &1 See R & 7 1

(A) faegd B) fer

(C) =r8HM (D) FTHS

Which type of age-sex pyramid is of Australia ?

(A) Expanding (B) Constant

(C) Declining (D) Negative

@ﬁﬁww%&ﬁwﬁﬁqﬁw%mﬁﬁﬁaﬁ?—mmwﬁm
! 1

(A) UReed faeE (B) &N faera

(C) uiREd feepra (D) g% IUELH

Which one of the following is the most crucial factor for sustainable
development in Indira Gandhi Canal Command Area ?

(A) Transport development (B) Agricultural development

(C) Eco-development (D) Colonisation of land
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24. GIF T Y A G Ufcde H TET o ? 1

When did United Nations published its first Human Development Report ?

25. qRd & fd W9 § A5 HGE AE § ? 1

Which state has the highest number of Buddhists ?

26. G ¥ HN-91 99 999 s I &R e St 2 7 1

Which language is spoken by most of people in India ?

27. 1930-1950 & I # A TN 7 HF-8 I JAT Ry 1 ? 1
What were the approaches used in Human Geography in 1930-1950 period ?

28. SUM % HIF-AT ANEH Y39 &1 §91 2 7 1

Which Industrial Region of Japan is densely populated ?

29. (g A ¥ Fehel UK THA Dl FTERI TKT bl ? 1

Which Country introduced Gross National Happiness ?

30. Hgs de & @M e T § Rad & 7 1

In which State is Kiriburu mine located ?
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